
Tuesday 23rd March 2021 

LI: I am learning to solve money problems. 

 

1 £3.00 + £1.00 =  2 £7.50 + £1.00 =  3 £10.00 + £2.00 = 

 

4 £4.00 - £4.00 =  5 £2.00 - £1.50 =   6 £5.00 - £2.50 =  

 

 

7 You have £5 in your piggy bank and you save up another £3. How much money 

do you now have in total? 

 

8 You have £5.00 in your pocket and decide to buy a drink which costs £2.00. 

How much money will you have left? 

 

9 You have £2.00 and you buy toast in school for yourself and four friends. 

This comes to 50p. How much money will you have left? 

 

10 Miss McLaren has a £5 note and buys two loaves of bread. Loaves cost 

£1.50 each. How much change will Mrs McLaren receive?  

 


